form orofefen gd @ AR & 40% ofefed s &
AP TE WM FEH G adt @ A B e e g
off :

werg ad 7,000 &, facda & 18,000 27, o & 44,000 &5
AR 9 a9 36,000

M 1 g 7 AfER g @), agFE @ | 9@
QAT A Q) JEa% Sfad 31 87rd # g F A 8

9. Explain the process how to start Tally. 16
ol B BY TH fpar S B, e swsEw
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Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.

J7l % 3¢ 37 @ gea goarE 98 gihRad #¢ & B g7E g
g7 @& JeT-aq Frw & g0 v §W e 7 #E A
R 7& g

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

TAF THE ¥ 0% W g §U, &9 9 Ue # oW
AT 799 Fo 1 wREd B w9 9 & i qEE R

1. (a) Give the characteristics of Instalment Payment
System. 8x2=16

fhea g ol R Rdtwand Rafe
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(b) Distinguish between lease and hire-purchase.
yge AR -y # e Fif

(c) What is an Independent Branch ?
o= e 5 #ed & 7

(d) Give any three advantages of preparing
departmental accounts.

fowrie & T & A ol A fifa
(e) What is a Realisation Account ?
i s @ @ € 7
(f) Explain Partnership Deed.
HERR o B R
(g) What is Royalty Reserve Account ?
HAFR ok 9T @ B wed E 7
(h) What are the advantages of Tally ?
o B @ @ ¥ 7

UNIT -1

- |

- X purchased seven trucks on hire purchase system on
1-7-2010. The cash price of each truck was Rs. 5,00,000.
He was to pay 20% of the cash price at the time of
delivery and the balance in five half yearly instalments
starting from 31-12-2010 with interest @ 5% p.a. On X's
failure to pay the instalments due on 30-6-2011 it was
agreed that X would return 3 trucks to the vendor and
remaining 4 would be retained by him. The vendor
agreed to allow him a credit for the amount paid
against these 3 trucks less 25%. Show the relevant

61161-1550-(P-8)(Q-9)(22) (2)

accounts in the books of X assuming that his books are
closed in June every year and depreciation @ 20% is
charged on trucks. 16

X ¥ 1-7-2010 # 7 g% B v=i @@ 59 B sow
%% B % g9 T 500,000 a1 IX GEH I @@ e
T H 20% e 2 a1 A A9 AR 5w Bedt F A
30-12-2010 & g6 &t B, 5% e s @fea 0 o 30-
62011 F 37 69 & FHA X 7 FT &l Te 77 g0 1%
X a9 5o fbar & der T X 9% 7% o ow T w
A REA A A g P R Baoaw g Ao
TR A |/ 25% T F@ e Ran X H @R omavEw
g @i S R afted s @ s adt ¥ ot et
9T 20% BIE TN A 2

. What is meant by Leasing ? Explain advantages and

disadvantages of Leasing. 16
Tee / 1 9 2 ? uee B W e # aweRy

UNIT =1
e ||

. Shri Radha Mohan Limited has a branch at Mysore.

Goods are invoiced to the branch at cost plus 25%. The
expenses of the branch are paid from head office and
the branch keeps a sales journal and debtors ledger
only. From the information supplied by the branch,
prepare trading and P/L A/c of the branch for the
year ending 31st March, 2016 and show the account of
the Branch as it would appear in the books of the head
office : 16
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T

i o Hew s @ o e AR ¥ R gEr & oA
A & 25% Sewt o I B gl & @d B OGN
eyt A A 1 T B O Fpd S AR
$ gEEd wEd 2 oanE g A E e gEee | 31
A, 2016 # wE@ BN AW af & fow avEr & AR
o7 B W AR AR q T FEeE H g A
qrET @ | S REny

4
Open stock at cash price 16,000
arRfes Tefoar arrd 5 W
Closing stock at invoice price 25,000
gifem Bl 996 g9 W
Cash Sales 28,460
e [y
Credits Sales 42,000
ELICER ]
Receipt from Debtors 37,600
R | Wi
Sundry Debtors on 31st March 2016 15,200
@R 31 9, 2016
Goods received from Head Office 60,000
T i § o A
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Goods in transit from Head Office on 31st 8,000
March, 2016

31 HE, 2016 & WHM FEGE & WA T4
A #F1 |

Expenses paid by Head Office for the 12,300

branch

YN HETEE B @l B

. What are the usual 'Direct and Indirect' charges in

departmental accounts ? Discuss the principles of
allocation of such items at the time of preparation of
final accounts. 16
Rl @t # e e o o @ & ol ¥ 7
af a AR F@ e O wE & e § e #@
ol FifeT

UNIT - I
g 1l

. A, B, C started business on 1st April, 2014 sharing

profits in the ratio of 3 : 2 : 1. their combined capital
was ¥ 96,000 which was shared in profit sharing ratio.
They are entitled to 10% p.a. interest on capitals.
Profits for the year 2014-15, before allowing interest on
capitals were ¥ 39,600. They drew ¥ 10,000; X 7,500 and
% 6,000 respectively during the year.
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They decided to dissolve the firm on 31st March, 2015.
Their creditors as on that date were T 50,000. In
addition, A had given a loan of T 5,000 to the firm.
There were liabilities amounting to ¥ 12,000, not
shown in the books. These are also to be paid.

Assets realized for T 1,20,000. Creditors for T 40,000
were taken over by A for ¥ 36,000. Balance of the
creditors were paid at a discount of 5%.

Prepare necessary accounts. 16

A, B, C 3 1 o, 2014 F F9R AH 3 a-E &
3:2:1%quqmﬁa‘1’zaaaa=m?r§6h?9ﬁ,oood’lﬁr
e fe oad # fn R T W 10% afts ==
a1 G an 2014-15 9 & @ i 9 S A A
@ @ o T 39,600 N 7§ F A IAR FHA: T 10,000;
7 7,500 37 T 6,000 AE T A

31 914, 2015 3 IR o @ e FA @ Fofr B s@
B o3 AR T 50,000 ¥ TR IRiE A I W A
25,000 F F1 N R g AN B A G FCA R
qeqfedl 3 REE @ T 1,20,000 ST g X 40,000 F A
& A X T 36000 ¥ Rrar @ AY AT B 5% Ge A
FH A (B T

AETF T FAET

. What accounting records are prepared in the books of
partnership firm at the time of sale of firm to a
company ? Explain. 16
S e o # FE B Ry R o @ d aeerd
ot & g B &A@ T o ¥ 7 A A
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UNIT - IV

- IV

8. On 1st April, 2001 Ram acquired on lease certain oil

wells for 15 years at minimum rent of ¥ 28,000 p.a.
Iﬁerging into a royalty of ¥ 1 per ton of oil taken out.
The shortworkings were recoverable in the next two
years of such shortworkings only, but on the condition
that it full shortworkings could not be recovered in
the next year of the shortworkings Ram will lose his
right to recover 40% of the unrecovered balance of
shortworkings. The output of the four years was 7,000
tons for the first year, 18,000 tons for the second year,
44,000 tons for third year and 36,000 tons for the fourth

year.

Prepare royalty account, shortworkings account and
landlord account in the books of Ram. Books are

closed on 31st March every year. 16

1 3R, 2001 B T T T 28,000 HfeEd AT fHIC T FY
m%ﬁqlsﬁ%mq@wmtmwﬂuﬁr
B 9 9 39 W T 1 9 e b vas ad @ aged
R @ oA @ A A orfeE R ST W ¥ Oy A
%%ﬁsnﬁaﬁﬁuﬁraﬁa@aﬂi%aﬁmﬁa&ﬁ
agﬁﬁaﬁ{ﬂnmﬁmmﬂﬁmwa%ﬁrmzﬁ
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